MATH 1330 - Review for Final Exam

When: Monday, May 9 — Thursday, May 12.

Where: CASA — Schedule the final exam!!! Be&tn < on Tride \
What is covered: All chapters. l&
What to bring: Picture ID, pencil and eraser.

Number of questions: 31 multiple choice questions (100 points).

Time: 110 minutes

Take practice Final: 10% of your grade will be added to your final score.

Do the teacher evaluation before Thursday, May 5, midnight.
(5 bonus points will be added to your final score!)

Handy Formulas

sin(s+t)=sinscost+cosssint
sin (s—t) =sinscost—cosssint
cos(s+t)=cosscost—sinssint

cos (s—t)=cosscost+sinssint

n n
tan (s +1) = tans +tant
l-tanstant
ns—tan
tan (s—1) = tans—tant
l+tanstant
sin(2t) = 2sin t cos t cos(2t) = cos® t—sin’ t
.S 1-coss S 1+coss S sins
sin— =% COS— =1 tan= =
2 2 2 2 2 1+coss



Given Formulas:

sin(A+B) = sinAcos B + cos AsinB

sin(A—B) = sin Acos B — cos Asin B

tan(A+B) _ tan A+tan B
1—tan Atan B
tan(A—B) _ tan A—tan B
1+ tan Atan B

cos(A+B) = cos Acos B — sin Asin B

cos(A—B) = cos Acos B + sin Asin B

sin(20) = 2sinfcos 6
cos(20) = cos* 6 —sin* 0

2tan6

tan(20) = Py

“f2)
z@ _

sin@
1+ cos@
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A.
B.
©)
D.
E.

What is the y intercept(s) for f(x) = —2(x - 2)2 (x + 1) ?

\6_3\ r\“L&r'OE\Ft —— %:; g(o)

©,8) %,
(0,0 X=0
(0,-8)
(2, 0) and (-1, 0)
None of the above
— | o, -®)

\[U'\:i&-\ ksamf'}o{‘cs [Holeg

@ Find the vertical asymptote(s) and/or hole(s), if any, for f (x)

A.
B.
C.
E.

There are no vertical asymptotes or holes.
Vertical asymptotes at x = —6 and x = —1; no holes
Vertical asymptote at x = —6 and hole at x = -1

Vertical asymptote at x =—1 and hole at x =—6

-2_,(0 'A)_,)L (O{-‘ t)

=241l =—R
x> +3x~18
Tamrs = decker

_ (/,5@') (x-3)

(;u/é) (x+ O

-

Holes at x = —6 and x = —1; no vertical asymptotes ﬂwl e \”L .
Xt 6=10 L+l =0
:_G \’\Ble- )L:‘\ \I"p‘- .
2x+3 . -1
3 Suppose that f(x) = - Find £~ (x).
X —
L 241D
- x-1 = —
A =5 | fewrte - L
- -3
B. f l(x)=2);_3 2. Ey_clnsv\%c'_ A~ = Z,% + 5
c fﬂﬂ:ff; l 4 |
@ gy X+3 3. go\ue J(a'\" % G‘Bbﬁ’?rsm
4 (x)_x—Z %
E. None of the above L Lé_o - Q'Lé) 2
X — 24U =— Xt 2 N - A3
= g s PO =
(k-2 = ~t3> L
0= X-2
%~ 2




4. Determine the end behavior of the polynomial function f(x)=-3x" (x+1)(x- 2)3 :

T Hee ﬂu—ﬂhfg teem

A. Both ends up X 7
2L \ S &
@ Bothendsdown ¢ \ e 33X - X -xX = X
C. Rising left toright y A

even-degree | nepakive
D. Falling left to right X % ) o—a / \_&
g

Tyno mi o Equt lon
i 5.)  Which of the following functions gives this graph?

o Flaok ZesoS  and ‘l:Llif—

A. f(x)=x(x-1)(x+2)
B. f(x)=—x3(x+l)(x—2) h“"“-n-%; P\c C“:tc es
©) rx)=2G)-2) o fnd welliciet fom
RIS cxdk behaiowr
E. . None of the above
-]’ Fal
L . /
‘F‘bﬁ) = ()L-H)'xz LX‘Z) end b&La.\ﬁor‘/ o
(’(‘i‘l) T X_—S ()C—' 2_)
\ o %

3




ehd Wehaviow -

O /7 ¢

o = -2 (x +2§—b~-\5 (x- 33

\



6.

Which of the following is the graph of f (x) = (x—2)* — 4

5 &hi %‘t )(L-

B.

2, te E%f

4 deuwyn

Cirde— Equaii'-"'\

Write the equation of the circle with center (-1, 2) and radius 9.

A (x-1+(y+2) =9
B. (x+1+(y-2)
@ (x+1)° +(y-2)
D. (x-11+(y+2)

(-0 Y 4 La—u" -

\, Sulste '(:uie.

(x~(—h)L+ ('-é- 2y =14

(x40 + Lé—a “ o

P

[



E“ i pS& \rer-t‘tc,e.g ® CDM PMC_ "&‘—i Coe “—fU—eu{'S

What are the vertices for %2 += 1? . "\—h o \915 3e_r' one Olﬁ-te.r'r:h'é
(0,8) and 0, =%) whethee  hori zatol / Vi edical

B.  (8,0)and(-8,0)

C. (0,-3)and (0, 3) \!ar']:i a.L el P se

D. (-3,0)and (3, 0)

E. None of the above bL= 64 => \D =17

== \(o_r"t\‘c.l-s LO ! 6) ) (0 '_8)

Tnteccedion Toiks
o Find the x-coordinates of the points of intersection for the functions shown below:

f(x)=x2+2x—1
g(x)=3x+5

Thn sudh questions | wiakee

o ]
. 0}

0 < gbe)  wd selve:

B
D. {-4.6}
& 23 #ox = =0 = | =372
-2,3
(x-2) (x+2) =0
Yectex sr’r ?o-rd.ool&
State the coordinates of the vertex for the given parabola.
~N D)
x*—8x+31+3y=0
-
2.
A @29 L, fr—3x t4 = —23u — 2| + 4
T 3
C. (549 -g;_ =4
D. (-5,4) )
E. (49 -  (x-4) = =34 —\5

(k-4 = -3(“3\15) = V- (4,73)




@ Simplify the following expression:

cos(0) __cos(8)
1-sin(8) 1+sin(0)

< (ommen Dene naker

A. —csc(0) C..OSG({+ .‘n[ae) . (osH- ( ("Sg‘de)
B. —cos(0) - (l-siqe) {'H’ 5“49) (H- Sin g) - (‘_S‘\" 9)

@ 2tan(6) 9;5—@/‘! ©505-9 — 99@/‘1' 050 5.~ B

D. 2 sec() = —— o
| - Sin"- O = s O
E. —cot? ()
2_ 9‘5in'8 2. Stﬂ‘g S— 2.'!:"-'\6'
Y os ©
@ Which of the following equals 1-— (sinx + cos x)2 ? o\

—-—-—'—'_'—‘_‘—‘-\;
A, 0

= | — (.s.‘,-.x.i-Can) (bfax-\- chx)
—sin(2x)

N
C. 2cos2(x) = ( — @ anx-_éaS)( + CDS)C_jl\"l

D. —cos (2x)

E. None of the above. = l - [ l + LQ:M-CO$)¢:3
= X-A- zsinrosx — [—5ia(ze)
——
nfﬁ“ GrJL _TL—-‘-

@ Evaluate: 0S 2n ' I = —



Dark Ciecle mw

Evaluate: sin(—s—;)—_ — 5;,\ _TL) - —

E{—Erenc:

@ Find the exact value of \/ 1+ cot? (%’E) .

A2 (z:rr) _ to5 2—_"‘) -
B. % <in (_%ﬂ-.)
C. 2
+ {
o\\retlE) - \S l+{-\‘[_if__
TavesSe. Sine_ [Costne I

Evaluate: cos_l(— —\/2—_3_j= 9 —> s 9

E,

undefined




@ Find the exact value of the following expression. If undefined, state, undefined.

sec[sin_l (%D — .Se.c-g

——

: ?
' 4
. -l _ N =
; - s(3)=0 > 0=
B. —
4
4 >y
c. 2 5 - = =
5 2 =" se.r_Q lf-
4
D. —
3 L
E. undefined

Suppose that 7 < 8 < 37” and that tan @ =% Compute singd . —> \f\.e.acik‘\ V¢

T AT}
J17
AT I ‘ v
5 @ " —> |sia@ = — - e -______@
C. —\/E ﬁ ﬁ l?

4
17

E. None of the above

Determine the equation of the sine function which has amplitude 2 and period 4. No shi ‘[’+ e -\.tb

v 5] A=2 § period=%
Pe.rfocl = ;'I — _LL-

B. y = 2sin(4x) > l
C. y = 4sin(2x) .
[J():Zzﬁlﬂ(—“:)L 4B=2T
D. y =4sin (E ) =
4 - 'B::.




_ Vertical ’(Sa,.-»?’(o‘l‘e.s fqaf' éeda\n‘{‘ /(oSezaA{'

@ Which of these is an equation of one of the asymptotes of the following function?

e bes <7 L+ ¢
5 ws(Lx
(s*)
S o
=D
B. ngn
l —
C.  x=6 Cos (?x) -0
D x =57
m—-—
@xzin —> L X= - —~ |x =21
S > >

Phaoe Sui -?{' = %

@ Find the horizontal shift for the following function:
C
/.

f(x)=5005€9x—a—2

~—

A. 4 left

s saft= = % riglic
C. 7 right 4 afr

D. 2lft Y

E. 7 left

‘ANPll‘tbLlie_ De{-fal‘t[or\ = —2‘? . diS'tMCQ. -gm"‘ mexX. —tg an.

@ A sine graph with amplitude of 8 has a maximum value of 3. What is its minimum value?

A. -5 B. -11 @ -13 D 19

Ld— ML)L"-‘—M' Mia = g _— M—'M = 2A

b——7

distonce

6-3 -~ |3 —° Mms=-13




@ In right triangle ABC with m£C =90°, mZB =55° and AB measures 14 units. Find the length of AC.

A

A. 14 tan(55°) ‘

14sin(55°)

14 cos (55°) X

=) S (551’) = ____A :
o |4

C.
D. sin(55°)
E. 7

X< |4 .554(553

(E 24, ) Find the area of an equilateral triangle with side length 6 feet.

A 1243 ft?
03 £t £ Area = L. C. ¢ sin(es)

C. 6 ft? 9
L-]
D. 183 £ A6D T (N
E. 63 fi? A z l 2
= |AV3
Laus a{r Slnes
i 25.) In triangle MNO, the measure of angle M is 30°, the length of NO is 5, and the length of MO C\neck
is 5\/5 . Find all possible measures for angle N.
0 ) Mo > ka
S\ > s
A. 60°
B.  30°or 60° & drawr h
C. 135
p_ 5 B¢ =515 s (357)
@ 45° or 135° N, _5V3 £ NO
2. —

=  two ‘t‘rima_\e.s Sin(38) 53"(‘“

-5 = 5%z

]

—_ s~ N) = ‘(E | W=2aS0or 28




@ In triangle MNO, the measure of angle M is 30°, the length of NO is 5, and the length of MO
is 52 . Find all possible measures for angle N.

O 0 w>»

60°

30° or 60°
135°

45°

45° or 135°

gUIRt
8!&5

1S ?o.‘:sl LOlP—- ) "tt'le"\

Lows 9{( Sines

1
aln LS‘DQ) Sin ('\l )
_ sialw

— 5 5

. '\I} “]:Q«KS e,a)u_pi{on D/ta.b .L So\uiiﬂf\,
Hien O“SJ[ \ -triam&ie_ con e louilt

. -Ix— R G,cluaiim Eln_b 2 Sblti:onj

’*Ele..ﬂ 2. ‘l'ria_h%_LS =) 2 ana

o Th it Lod we sldion => 0O ‘tfimfx(e

nlo™ _ sl o salN)

5

s\(2

. \E3
—_ ‘S"‘(N)‘; "2"2;:

/5/

=D

— —

=5 5i(32)
PV




If sin6 = % and 0 lies in Quadran@ﬁnd the exact value of sin(e + %J :

2 Sin (3+15>=5i49 osT + s fsin I

ﬁ -1 l/ \/ F‘:lja‘ /6

%1 =>wsf=-22 <
3

s =2V2

@ Suppose an ant is sitting on the perimeter of the unit circle at the point (1, 0). If the ant travels a
distance of 2r/3 in the counter-clockwise direction, then the coordinates of the point where the ant
stops will be +

i (10)

5B Y @RY) - (Y
—> Qas[%—) ‘—_%_ ) san(’-_;">=\1_;§_—>

Av\g\t vx, aedoiian

@ A skateboard ramp is 40 feet long and rises 18 feet. What is the angle of elevation of the ramp?

A. tan"‘(z—goj
sin_l(z—goj 20 & —> sib 2_2%




-' 3
ABC is a triangle with cos (B) = —\/——— . What is/are the possible value(s) of B? Remember, ABC is a

triangle!

B.

9

<

o2

@ Solve sin

o a

—— —— ——
a3 wla 0\|.‘-1

2

Cos (3)=3 = B=30 o

E_} Pmo“l:fu.r" exmp\e . Think o ABC
Sn} lutl'L. Sin 3) ﬁ- u)\fwimra. Poﬁé:ﬂ&
unLu_j 4 ‘7_

3 — ,stn(E) :\% =5 B= 45-”0: |35o
i Yy Y
g
(5x) =1 on the interval [O, E] -
Peris ool = 2X i /} . - 21
= o 51(\ ('E-)_(’ — L PQ'_IOd - 5-
10
2n 10m éx-_-_’_ﬂ_' —> X, = qun T mgf)erfod

s Ty 2 lo
5 4




Sin(2e) = —osx
@ Solve sin(2x) = —cos(x) on the interval [0,27]. 2 StAax  -Cosx — — CosX

T 3
A, {x=5,x=7} 2_,51\/I><.‘CDSK —+ Cos Sx T—‘-O
B {Y=E x=1ﬂ}
Fs conx (2 sinn +1) =0
C {x=E x=5—7t x=E x=3—n}
6 6 2’ 2 CoSx = O or 2 SiaxXt\=0
7 lln T 3n
{“?“?"‘*?“7} K= T 3T Lo singant
E. No solution. £ < <
(= 1T AT
6
LQ_u: 9&( CO.S:AC.S 6

@ ABC is a triangle with AB=4, BC=7,and AC=9. Find cos (A).

Note: You are asked to find cos(A) not the measure of angle A.

A L
’ 7= 4 44 —2-49. cosA
%
c. % e 41=|6+8 — T2 coshA
D. —43 = 12 cosA
4
4 3
=-> Evaluate the following expression: tan!(1) + sin'!(1/2)
1 I
- 0 - S
T, _ Ts> T2 _|ST
4 6 43 62 2—
""—‘-) If A and B are two acute angles such that sin(A)=3/5 and tan(B)=12/5, find cos(A+B).
p
(05 {4*3) = tosP - sB— S1AAsiaT -
=4 .5 _ 2z @ _|Zle =
5 3 5 1z L5
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